Kuwait University Math 102 Date: Jan 6, 2001
Dept of Math and Comp Sci Final Exam Duration: 2 hrs

Answer all of the following questions. Each (sub)question is worth 4 points.
Calculators, pagers and mabile telephones are NOT allowed.

1. Evaluate each limit. : .
=y |ige 2 cotx w1 _
(i) lim (z°+ 2°) (ii) il’l{l_'. (1:19: - 1)
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2. Evaluate each integral.

. T v 2z +1
(')[ Valbyz + o) (“)[ it
(i) f (sin® z) In(cos z) dz (iv) [ /2 = s /)

3. Determine whether the improper integral converges or diverges. If it converges,
find its himit. B o
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4. Sketch the graph of r = sin 26, and find the area of the region enclosed.

5. Show that the line
l: z2=1-2t, y=2+3t, 2=3-1
is parallel to the line of intersection of the two planes

r+y+2—-1=0 and 2z+y—-2-3=0.

6. Find an equation of the plane through the points
P(3,2,1), Q(-1,1,-2), and R(3,—4,1).
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